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A standard mix‘of a product of ‘The Anand Ltd.". 1s as follows
Material Standard Mix Standard Price

Kg. per Kg.
X 100 5
Y 40 4
Z 60 10
The standar@ loss is estimated at 10% of units inreduced. There 15 no scrap valve.

Actual output of product was 14,400 kgs
Actudl consumption and cost of goods were as follows

Material Actual Mix Actual Price
Kg. per Kg.
X 8,320 5-30
Y 3.360 3-75
Z 5,120 9-50
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Find out the following variances :
(1) Material cost vanance

(2) Matenial price vanance

(3) Material usage vanance

(4) Material mix variance
&) \!atenaj vield vanance 4
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Explain in short “Labour Variance™.
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The details of workers engaged in the production of one unit of item ‘P’ in a
factorv.
Workers Hours Labour Rate per Hour
3
Skilled 5 6
Unskilied 5 2
Semui-skalied - 3
Actoalwork | Acrual production 200 units.
Workers Hours Labour Rate per Hour
3
Skillsd 900 8
Unskilled 2000 1 - 80
gSemi-skilled 840 3
3740

Calculate the following vanances
(1) Labour Cost Variance
(2) Labour Rate Vanance
(3) Labour Efficiency Vanance
(4) Labour Mix Vanance
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Show benefits of “Standard Cost Method™.
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Find out the sales variances from the information given below :

Sales Value V:m ances
Sales Price Varance

Sales Volume Varnance
Sales Mix Variance

Sales Sub-volume Varance

(1)
(2)
(3)
(4)
)

\lnndard -

1

Quantity
Units
P 100
Q 200
R 500
800

Item

Sales Value |
per Unif ¥

Actual

Quantity
~ Units

Sales Value
per Unit ¥
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are as follows :

Janand Ltd
The details of overhead cost for Jan. 2014 of The P
Particulars Standard | Actual

Working days 25 26 0

Hours 10,000 11,25

Production Units 10,000 11,000

Variable overheads 7 50,000 Z 60,000
[ Fixed overheads T 40,000 _ﬁ_S__Q_Q_U__...-

Find out the following variances :

(1)
(2
(3)
4)
(3)
(6)
(7)

3. (A

(B)

(C)

(B)

(C)
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Variable Overhead Variance
Variable Overhead Rate Variance _
Variable Overhead Efficiency Variance

Fixed Overhead Variance
Fixed Overhead Budget Variance
Fixed Overhead Volume Variance

Fixed Overhead Efficiency Variance
wid dl 1§ sedl Ry |
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If T 5,000 is invested at the rate of 5% P
principal and interest amount after 15 years g 2
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At what rate of compound interest after 2 years would the tota ' ~|

times ? . -.
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Explain the “Time Value of Monéy”. Explain in'short the compound interest and .|

the discount method.
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A person warits to invest ¥ 3,000 for 4 years under two options :

Option-1 : Quarterly compound interest @ 12% annual rate.

Option-2 : Annually compound interest @ 13% p.a.

Which of the two options would be more beneficial ?

Under A-1 table of compound interest :

The factor value of ¥ 1 at the end of 16 years @ 3% p.a. is 1.605.

The factor value of ¥ 1 at the end of 4 years @ 13% p.a. is 1.630.
(25 402 €2 Uald A4 ARA AR €2 YgliAl vy W 59
Elucidate the concepts of internal rebate rate method and Average r;ue of return

t

met!‘;od. ‘
g5H dul  uRd Y ¥HY Ygld
Write a short note on “Pay back period” method.

4



A [ 2As 4o wdleaw 13l 8. 22,00,000 Al B s 2ai A 420 A 2 B

W 8. e Yo eiwd iy 5l 8. elour Bad Adl. syl Fad andz-

ER12% ©. Sudld 4 wdl sAAL €2 50% 9. ofd dslldl YARL w243
14

wdaidl e saell QA yao o ¢ 14

s qA A 4+ B
T L4
1 70,000 1,10,000
2 80,000 1,30,000
3 1.30.000 80,000
4 1.00,000 60,000
5 60.000 70,000
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0.893, 0.797, 0.712, 0.636 > 0.567 €.
ainath Ltd. wish to purchase a machine unit. Two machine units A and B of ¥ 2,00,000

each are available. Each machines estimated life is 5 years. No scrap value. Fixed rate of
return 1s 12% p.a. The applicable tax rate is 50%. The estimated earning before

depreciaton and taxation of both the machines is asunder :
|

. . Machine A | Machine B

.' Year - I

= | ? | 4
1 70.000 1,10,000
2 $0.000 1,30,000
3 1.30.000 80.000
4 1.00.000 60.000
5 60.000 | 70,000

Using the following methods. ehoose the most beneficial machine unit :
(1) Pay back period
(2) Average rate of Return

(3) Net presenthalue
The present/valuc©fX 1 for 5 years @ 12% p.a. is :

0.8930:6:797. 03742, 0.636 and 0.567.
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— e The company calculate
A company wants to invest T 2,00,000 in an investment scheme. The company ate

that an additional investment of ¥ 1.00,000 will havc‘
receivables during the life of the scheme. The annual n¢
T 2.00.000 from this scheme. An additional annual expense 0
for the five year period of the scheme. Tax rate is 50%. The
line method for depreciation. Capital cost is 10% after tax. - o
What will be the net present value of the scheme ? What will be the internal Rate of
Return calculated by discount factor @ 20% and 22% ? . L

Year 1 2 EEEN L) S
Present value @ 10% 0.909 0.827 0.751 0.683 0.621
Present Value @ 206 0.8333 0.6944 0.5787 04823 04019

_Present Value @ 22% 0.8197 | 06719 | 05507 | 04514 | 0.3700

(0 be made on stock and
reases in sales ‘will be of
£ T 60,000 will be incurred
company follows straight

AL calda e3s USTus s sl gy @l adal 9. d ALl et Wl
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The sub-questions below are provided with-more than one answers. Find out true answer
and also show vour necessary calculations :
(1 25 sRWAED WL Wid daldl Gualdl w0 2 d-l 2y, 2014+
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(a) 4% 200 > * 2,900 (b)Y + 200 1 + 2,900
(©) [ =200 > + 200 (d)  + 2,900 ¥ ~ 200
A factory uses standard cost method. Production information of Jan. 2014 is as
follows :
Standard : 10 kg material necessary for 8 kg production
Standard value of material 1s ¥ 2.00 per kg.
Actual production 2,400 kgs.
Matenal utilized 2,900 kgs.
Cost of matenal utilized X 8,700
Hence the material usage variance and material price variance will be

]

respecively .
(a) + 200 and - 2,900 (b)y  + 200 and + 2,900
(¢) —2.900 and + 200 (d) + 2,900 and - 200
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A company’s Feb.2014 production 1abour cost is as under -

Direct labour paid 3 16400

Standard hours 4320

Standard rate of labour per hour T3

Actual work hours 4100

Hence the Labour Rate Vanance and Labour Cost Variance will Be respectively

(a) -4.100and + 3.440 (®)  -4.100 and - 3.440

(¢) +3.440and - 4.100 (d)  + 3440 and - 410
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() + 500 ¥4 — 400 pd) 4 % 400 ¥+ - 500
A company’s March-2014 prodiucnonidetails are as under :
Fixed overhead gesnas per Budget T 10.000
Production unats as perbudget 5.000
Actual production unit€'during the month 5250
Actual fixedwoverhiead cost duning the month ¥ 10,400
Hence the Fixe@ Operhead Volume Vanance and Overhead Budget Vanance
will besespectively —
(a) 4% 500)and + 400 (® - 400 and + 500
(c) + 500 and - 400 (d)  + 400 and - 30
% RS o e2 15% ol dl A it w™HL AL Ad Hadl

gl HA 9 sel 7
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(a) 52,405 (2
(@ 2314 d 2309 ‘
what will be the present value of ¥ 2,000

If the annual interest rate i1s 13%.
o
received at the end of the 3™ and the 57 years ?

(a) 2.405 (b) ‘*t:q
) 2314 (d 2.3
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7 1,92,000, ¥ 2,40,000, ¥ 2,32,000, T 3,52.000. 7 4,24.000

HI2A set W qadeAl £ hzal wil ?

(@) 10% b 129

G e (d) 15%

A company wants 1o invest T 9,60,000 1n a project The useful hfe @fthe scheme
15 S years. No scrap value tax rate 1s 0% Straight hne method of depreciation
1s apphied. The annual cash Now belore depreciation and tax 15 as follows:

T 1.92,000, T 2,40,000, 2 232,000, 7 1,52.000, T 4,24.000

Calculate the rate of Average Return on investment

i (hy 12%
Y TN (dy 15%
b}



